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Simple GA

Chromosome crossover and mutation iterate only
in a population based on current objective value

Gene design Evolution in a generation

75m [250 [ T4T5]1 =
f m Tn’m’\ Mula\lor\i1_2w1 5|16 C = 2500

[1]2]1]s]1]e] 4 2[E[E]Rl e | - c=2000

L chromosome —J |2]2]5]|5(1{3]~ € WSl

|
Crossover

.
=

l

=
— 5|65 44 2 |-+ C=4000
|6 | €=2500 . !

=

G T i3
- € = 2000 _1“277“ 1)116] C = 2200
. €=1750 |4|2]|5|5|3 - € =2000
T

6|
S il il B (R
2|2|5|5 \314»-(::1750

Il

I
5 4|2|5|5|3|6|
& 12]|2]|5|5|1]|3]"
= 1 1 1 1
Q.
o 5
s - = - -
L ‘

[o]

‘51[ .. C=1500;E




